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1/     213 - 100 = 

            

            

            

            

        113 

        

2/      350 +  1000  = 

            

            

            

            

        1350 

        



 

3/ 

            

            

            

            

        0 

        

4/ 

            

            

            

            

        1000 

        

    25 ÷ 0 = 

 

        200 X 5  = 



 

5/ 

            

            

            

            

        6370 

        

6/ 

            

            

            

            

        800 

        

=  5600 + 770 
 

 

        4800 ÷ 6 = 



 

1x 10 x 5 = 

 

7/ 

            

            

            

            

        90 

        

8/ 

            

            

            

            

        50 

        

Four hundred and fifty divided by 5 = 



 

        532  X 8 =  

 

9/ 

            

            

            

            

        118 

        

10/ 

            

            

            

            

        4256 

        

708 ÷ 6 = 



 

        9 x 1000 = 

 

        0.9 x 100 = 

 

11/ 

            

            

            

            

        90 

        

12/ 

            

            

            

            

        9000 

        



 

        0.03  + 0.12 =  

 

13/ 

            

            

            

            

        0.15 

        

14     5,500 =  2999 +  

            

            

            

            

        2501 

        

 



 

15  53,319 + 5,225 = 

            

            

            

            

        58,544 

        

16    8000 - 3999  = 

            

            

            

            

        4001 

        



 

17/     11  

            

            

            

            

        121 

        

18/      0.3 x 8 = 

            

            

            

            

        2.4 

        

2 



 

       14 X 10 = 

 

 
19/ 

            

            

            

            

        59 

        

20/ 

            

            

            

            

        140 

        

2 
 

7   +  10 = 



 

7 - 2.06 = 

 

21/ 

            

            

            

            

        4.94 

        

22/ 

            

            

            

            

        1140 

        

 

        9120 ÷ 8 = 



 

3    +    5   = 

7          7 

 

        630 divided by 10 = 

 

 
23/ 

            

            

            

            

        63 

        

24/ 

            

            

            

            

        8    or       1 

7              7         1 



 

8 +  1    = 

9    3   

 

 
25/    

            

            

            

            

        11   or      2 

9             9            

26/ 

            

            

            

            

        10 

24         

 

5    x   2   = 

8         3       

1 


